At Exam L
1. Giive an acceptable IUPAC name for eacn of the compounds in a-¢. Draw the structure of the
compound in d. Be sure to indicate the stereochemistry where appropriate. (16 points)
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2. Draw a proper Lewis structure for the condensed formula below. Be sure to shaw
all lone pairs and formal charges. (5pts)
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3. Place the compounds beiow in order of increasing mening paint, (1=lowest,
3=highest melting point) (8 pts.)
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4. Place the compounds below in order of increasing solubility in H,0. (1=least
soluble, 3=most soluble) (6 pts.)
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5. For the structure given below, draw the important resonance contributors. Circle
the major contributor. (12 pts.)
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8. Place the compounds in order of increasing acidity. (1=least acidic, 3=most
acidic) (6 pts.)-
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7. Draw all structural isomers resulting from the monobromination of 2,2,5-
trimethyhexane (shown below). You will be penalized for duplicate structures. (10
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8. Consider the structure below and answer the following questions.
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a. Write the hybridization of each atom indicated by an arrow in the box provided.
(6 pts.)

b. What is the C.-C4-N, bond angle? (2 pts.) 12 0°

c. The sigma bond between the atoms labeled a and b is formed by the overlap of
what types of orbitals? Be specific. (2 pts.)
SpPse




9. Viewing the molecule along the C3-C4 bond, construct the Newman projection of the least stable
conformation of 3,4-dimethylheptane. (5 points)
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10. a. Draw the more stable chair conformation for each of the substituted cyclohexanes shown below. (8
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b. Which isomer is more stable? A or B? (2 points) | 6 I




| 11. An equation representing the halogenation of an alkane is shown below. a) Provide the
propagation steps of the mechanism that explain the formation of the products. (6 points)
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b. Consider the termination steps, and provide a structure
for a possible side product. (2pt.)

c. Given the bond dissociation energies (BDE) below, calculate the overall A H°for the reaction in the

box provided: You must show your work to receive credit! (4 points)
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